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ik ~1'1"?~t M 3!-t o C 1 0%) 
2. 7f~.l:. -~' %-~~~JJ.gillifi1ti* Jt ~~Jij~ -1JJ-3&ffl ~WJ pq ~~}i-,ij 5t -i ag ~ ~~ 

1~!t 1f 1-G i: *- ' ~t ~M 3! 1-t!?. ( ~) J.t ~o 1'1 Ma ~ !l:G- r", ~ i: *- ' J.t :3!!1lli uJJ~ .!lt. ag ~ 
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3. 11~ .1:.- i!! , -&-;t ~~ JJ. gill 1t Jj~.r", ~ i: *- a{J ~" ~it , ~~ ~o 1i7T -tt 1-G 1e. C ~) #Jl" i: *-
ag1t li:fo~ili?(15%) 

4. Please explain and describe the following terms. (5o/o for each; 20o/o) 

( 1 ). Law of large number 
(2). Central limit theorem 
(3). Disordinal interaction 
( 4). Type I error 

5. :ft.~~JJ.tip ll!1t g ~;}~ ~1t~~J!1JtElt ag ~~t-tf-1-i; ' 1t- tf 1(-.~~Jl 12 ~ {:i~ § 

~ ;y~ tt ag •m ~ ~'&- itJ , t~ *'HJi 12 ~ ~'Hi~-- ~i ag ;f±-x ~'5 iJJ , -t 1t ~ ~JI. ~~ ;tt 
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1f ~ ~Ji :fo {~ -$~ ~Jl ag -if JS] 11i -t _£ !!;_ 11 it ~tj . 0 5 -t ~~ ;a. 7j<. i\!? 

(t.975(22)=2. 074' t.95(22)=1. 717) (15 fr) 
"f.~~ x1 ;;:; so s~;;;;; a 
i! -$~ t.J! x 2 = 70 si = 10 

6 .• ~~-TM·~·~hff-l~#-t*MJ~·k11·~·~~~ag~*' 
~~--~T6~·~·M*-~T*o-~ffl~Aafr#·~ili·**-' 
JiT~~~li;}'*'Jlilt o -tia=. 05 F.9scz.to)=4.10 (15 fr) 

tf:~ 1,J,B~ 2 'j'B~ 3 ,l,B~ 

mm 2 3 4 
-if-if 3 4 4 
~~ 1 1 2 
1!Jt 0 1 2 
~!t 4 4 4 
1!:.1! 2 3 4 


